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HwER EEmT A ERN S LR

% g K& - BRHE Bifg B 2 i & BB wmE
B R 9,187,300 + 203,919 9,391,219
EEAGE 9,187,300
EEEE 203,919
T DAt 9,187,300 x 53.85% ( 35% = (1 — 35% ) ) 4,947, 361
RHRE 9,391,219 + 4,947 361 14, 338, 580
—REEEZ 14,338,580 x 53.85% ( 35% = (1 — 35%) ) — 9,905 7,711,420
ES it 14,338,580 + 7,711,420 22,050, 000
HBETEALE 22,050,000 x 10.00% 2,205, 000
EBZEH 22,050,000 + 2, 205, 000 24, 255, 000




BEARRE EEmT A ERN S LR
2 # AR - BRI By B i & B OE
E iR 9,391, 219
BRETHERAEFER 9,391, 219
EREIHERTEFER 9,391, 219
EEAGE 9,187, 300
FHEE 433, 500
1 sTE#E 1.00 433, 500 433, 500
=
& - | 441, 200
2 ERiRE 1.00 121, 800 121, 800
=
3 s 1.00 121, 800 121, 800
=
4 EW|E 1.00 197, 600 197, 600
=
R DIRE 1,117,100
5 IR HEDEE 1.00 1,117,100 1,117,100
=y
WIS ERET 6, 313, 300
6 MEREBHAEZDRE 1.00 2,953, 200 2,953, 200
=y
T IiEEE - EXRAIEI =D 1.00 707, 800 707, 800
=
8 HmE{ER 1.00 1, 315, 200 1,315, 200




BERRE BB ITHERAEER
£ ¥R K - BiksHik B3 2 B f ® H S

9 HEEE 1.00 1,084, 800 1,084, 800
=

10 IEISEEEL 1.00 252, 300 252, 300
=

BARBA R E ERMER 255, 100

1 B RHRER RS EHER 1.00 255, 100 255,100
=

BE 154, 200

12 BE 1.00 154, 200 154, 200
=

R 472,900

13 ¥R REER 1.00 472,900 472,900
=

EHERE (24K 203,919

EHXARE 85,919

14 EHERRE 1.00 85,919 85,919
=

[5E: 73, 000

15 ¥R ER 1.00 73, 000 73, 000
=

HEIHREE 45, 000

16 MELERERAE 1.00 45,000 45, 000




REKR-FEL/ N5 —2 BEmIHEREER
51
& ¥ ETEEE XLy
£ R R - BRTiE B 2 B {f %8 5 &=
AR
A 1.00 75, 800. 00 75, 800
FEHAm (BRE)
A 1.50 64, 800. 00 97, 200
HER (A)
A 2.50 57, 000. 00 142, 500
HEf (B)
A 2.50 47, 200. 00 118, 000
& Hi YEZHED - 1.00K 433, 500. 00 433, 500
5 :2
&7 BRRE H=EPY
£ R R - BRTiE B 2 B {f %8 5 &=
FEHAm (GRE)
A 1.00 64, 800. 00 64, 800
AR (A)
A 1.00 57, 000. 00 57, 000
& Hi YEZHED - 1.00[H 121, 800. 00 121, 800
5 :3
& PRSRE HEED,
£ R R - BARTiE B 2 B {f %8 5 &=
FEHAm (BRE)
A 1.00 64, 800. 00 64, 800
AR (A)
A 1.00 57, 000. 00 57, 000
& Hi YEZHED - 1.00[H 121, 800. 00 121, 800




Rz -ET/ Svor—> SHETHERTEES
&5 .4
2 RER®RE HEED
2 [ R - BT By £ B{f ] 5 &=
HEn&
A 1.00 75, 800. 00 75, 800
F RN (BRED
A 1.00 64, 800. 00 64, 800
HEm (A)
A 1.00 57, 000. 00 57, 000
& Hi YEZERED - 1.00[E=] 197, 600. 00 197, 600
E#S5:5
2 EiREEOIRE 1KLY
2 [ R - BT By £ B{f ] 5 &=
F RN (BRED
A 1.00 64, 800. 00 64, 800
HEm (A)
A 5.50 57, 000. 00 313, 500
A (B)
A 6.50 47, 200. 00 306, 800
HEm (C)
A 6.00 38, 400. 00 230, 400
Hitt g
A 6.00 33, 600. 00 201, 600
& b 1EZERED 1. 00K 1,117,100. 00 1,117,100




REKR-FEL/ N5 —2 BEmIHEREER
E5:6
B EEREEAEO®E 1KY
2 L i - KT B = Bl & B 5 &=
FEHAm (GRE)
A 11.00 64, 800. 00 712, 800
AR (A)
A 14. 00 57, 000. 00 798, 000
HEf (B)
A 15. 00 47, 200. 00 708, 000
AR (C)
A 16. 50 38, 400. 00 633, 600
Hit g
A 3.00 33, 600. 00 100, 800
& b YEZHED - 1.00K 2,953, 200. 00 2,953, 200
E55:17
& LIEFE - EXRFIEIED®E 1KY
2 L & - KT & B = Bl & B 5 &=
FEHAm (BRE)
A 3.00 64, 800. 00 194, 400
AR (A)
A 3.00 57, 000. 00 171, 000
HEf (B)
A 4.00 47, 200. 00 188, 800
AR (C)
A 4.00 38, 400. 00 153, 600
& Hi YEZHED - 1.00K 707, 800. 00 707, 800
EF5:8
2 L & - KT B = Bl & B 5 &=
HEf (B)
A 3.00 47, 200. 00 141, 600
AR (C)
A 10. 00 38, 400. 00 384, 000
Hitt g
A 23.50 33, 600. 00 789, 600
& b YEZHED - 1.00K 1, 315, 200. 00 1,315, 200




REKR-FEL/ N5 —2 BEmIHEREER
E#5:9
2 BEFHE 1xX4Y
£ [ R - BT By B = B{f ] B &
A (B)
A 3.00 47, 200. 00 141, 600
HEm (C)
A 7.50 38, 400. 00 288, 000
Hifr&
A 19. 50 33, 600. 00 655, 200
& b EZERED - 1. 00K 1,084, 800. 00 1,084, 800
E#5:10
&2 BMEIBEHEH 1KLY
£ [ R - BT By B = B{f ] B &
HEm (A)
A 1.50 57, 000. 00 85, 500
HEm (B)
A 1.50 47, 200. 00 70, 800
HEm (C)
A 2.50 38, 400. 00 96, 000
& Hi EZERED 1. 00K 252, 300. 00 252, 300
BH5: 1
2% BAREEREEERMER 1KLY
£ [ R - BRTE By B = B{f ] B &
F RN (BRED
A 1.00 64, 800. 00 64, 800
HEm (A)
A 1.50 57, 000. 00 85, 500
HEm (B)
A 1.00 47, 200. 00 47, 200
HEm (C)
A 1.50 38, 400. 00 57, 600
& Hi EZERED 1. 00K 255, 100. 00 255,100




REKR-FEL/ N5 —2 BEmIHEREER
E#5:12
2% BE 1KY
2 L i - KT B B = Bl & B 5 &=
FEHAm (GRE)
A 1.50 64, 800. 00 97, 200
AR (A)
A 1.00 57, 000. 00 57, 000
& Hi YE%HED - 1.00K 154, 200. 00 154, 200
E#5:13
B FBETREEER 1KY
2 L & - KT & B B = Bl & B 5 &=
FEHAm (BRE)
A 1.50 64, 800. 00 97, 200
AR (A)
A 2.50 57, 000. 00 142, 500
A (B)
A 2.50 47, 200. 00 118, 000
AR (C)
A 3.00 38, 400. 00 115, 200
& Hi YEZHED - 1.00K 472, 900. 00 472,900
E5 .14
& EHANE 1KY
2 L & - KT & B B = Bl & B 5 &=
EXAMRE
= 1.00 85,919.00 85,919
& b YE%HED - 1.00K 85, 919. 00 85,919
E#5: 15
B EBHESR 1KY
2 L & - KT B B = Bl & B 5 &=
EBHERE
= 1.00 73, 000. 00 73, 000
& Hi YEZHED - 1.00K 73, 000. 00 73, 000




RifiR-ET/ \vr—

SEBIAERHEER
%5 : 16
B EIRERE 1KY
% L & - KT B 8 2 Bl ® & W OE iw &
E-ARYVITHRE BREES
= 1.00 45, 000. 00 45, 000
& it YEZHED - 1.00K 45, 000. 00 45, 000




